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Learning Goals
Learning Goal Homework Problems
2.6.1 Find limits using a graph of the function. 1, 2.

2.6.2 Compute limits of functions as x approaches infinity or negative | 3-36.
infinity using appropriate algebraic manipulation.

2.6.3 Find infinite limits. 37-62.
2.6.4 Graph rational functions and identify any asymptotes of the 63-68.
function.

2.6.5 Use limits to find domains, ranges, and asymptotes of functions. | 69-74.
2.6.6 Find and graph functions with given conditions. 75-85.
2.6.7 Compute the limits of differences of functions at infinity. 86-92.
2.6.8 Find and graph oblique asymptotes of rational functions. 105-110.

2.6.9 Answer conceptual questions involving limits at infinity, infinite | 83-85.
limits, and asymptotes.
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